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There are 4 red birds and
2 blue birds. How many
birds are there?

birds




image6.png
There are some frogs on a

log. 3 more frogs sit on the
log. Then there are 9 frogs
on the log. How many frogs
were on the log before?

3

There are 4 fish swimming.
Then 2 more fish join
them. How many fish are
swimming now?
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4+2=
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Write the addends in a

different order.

2+8=10

10

Write the addends in
a different order.

0+2=2
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Find the sum.
Then write the related addition fact.
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Use &k [} to show all the ways to make 7.
Color to show your cube trains.
Complete the addition sentences to match your drawings.

ofoJoJo[oJofoh |7= +
ofoJoJo[o[ofop |7= +
of[oJoJo[o]ofop |7= +
ofoJoJo[o]ofoh  |7= +
ofoJoJo[o[ofop |7= +
o[oJo[o]o[ofop |[7= +
ofofoJo[o[ofoh |7= +
o[oJoJo[o[ofoh |7= +
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Draw enough circles to make 10.

Draw enough circles to make 10.
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Which shows a way to make 5?
SREEEE o SEBEIEIE O o
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1. Colin sees 3 ducks in the pond.
He sees 4 ducks on the grass.

& I

How many ducks does Colin see in all?
O 3+ 5 =28ducks
O 3+ 4 =7ducks

O 4 —3=1duck
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How many bugs?

free,  FParoe
Hoovk Lotk
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and 2 more bugs bugs
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3. What is the sum? 4. Which shows | + | =2?

o|ojojop |o|op

O [op [oh
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Write the sum.

O[O|O|O|Op ojo|op

5 cats and 3 more cats
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1. Coln 5605 3 ducks n the pond.
Ho sees f ducks on the grass.

How mony ducks does Coln so0 inal?
©345=8ducks
0 3+4=7ducks

1 duck




